3.9.1,3. Nichtexpandierbare AND/OR/NOT-Gatter

Typ Isn I  Iow fouL fou N Now Noo Pb Bemer-
mA mA mA ns ns kungen

‘51 4,0 74 —04 8,0 13 1 10 10 A/BM 1)

'H51 10,6* —0,5 6,5% 1 10 10 A,BM 1Y)

'L51 0,4 08 =02 a5 50 1 20 20 C, D z), 3)

'L851 0,8 1.4 —-04 6,0 8,0 1 20 22 C 2%:3)
sl L] 8,2 13,6 —1,0 i5 3.5 1 20 10 A 1)

- 40 51 —04 8.0 13 1 10 10 E, F 4)
JH54 La 8,2% —0,5 6,5% ] 10 10 N, 0 %)

'L54 0,4 0,6 -—0,2 35 50 1 20 20 G 6)

'L54 0,4 0,6 -—0,2 35 50 1 20 20 H 7)

‘LS54 0,8 1,0 —-04 7.0 15 1 20 22 G 6)

‘LS55 0,2 04 —0.2 s 50 1 20 20 I,1J §)

‘LS55 0,4 0,7 —-04 6,0 9,0 1 20 22 I %)

‘Fé4 1,8 22 —1,0 3,0% 1 20 10 K ?)

'S64 7.0 85 -1,0 3.5 3,5 1 20 10 K ?)

'S65 6,0 8,5 0,2513) 5,0 55 1 10 K 10}

'JIP341 1,0% 200 200 4 10 10 L 11)/3)

'NIP342 0,8% 200 200 4 P 12y

)Y =TAB) + (CD); 2)1Y= (1A 1B-1C)+ (ID - IE ' IF); ?)2Y = (ZA-2B) + (2C - 2D);
4Y = (AB) + (CD) + (EF) + (GH); %)Y = (AB) + (BC) + (EFG) + (HI);

)Y = (AB) + (CDE) + (FGH) + (I); ") Y = (ABC) + (DE) + (FG) + (HLJ));

)Y = (ABCD) + (EFGH); *®)Y = (ABCD) + (EF) + (GHI) + (JK);

19) 0.K., Y = (ABCD) + (EF) + (GHI) + (JK); ') 1Y ={TA-1B-1C-1D) + (1E " 1F);

)Y = (AB) + (CD) + (EFG) 4 (HUUK); '?) Ieex
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